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Home Work 6 - MAT1060 

  لمجموعةا  اسم الطالب

 𝑬𝑿𝑬𝑹𝑪𝑰𝑺𝑬𝑺𝑬𝑻 𝟑. 𝟑  𝟏/ 𝑷𝒂𝒈𝒆 𝟏𝟐𝟏 

2)  𝑎) 𝑇𝑜 𝑒𝑣𝑎𝑙𝑢𝑎𝑡𝑒  ∫ 4𝑥(1 − 𝑥2)𝑑𝑥

2

−1

   𝑎𝑓𝑡𝑒𝑟 𝑎𝑝𝑟𝑜𝑝𝑒𝑟 𝑠𝑢𝑏𝑠𝑡𝑖𝑡𝑢𝑡𝑖𝑜𝑛, 𝑤𝑒 𝑔𝑒𝑡  

………………………………………………………………………................................................................................................

………………………………………………………………………................................................................................................

………………………………………………………………………................................................................................................ 

D C B A 

 

𝑁𝑜𝑛𝑒 𝑜𝑓 𝑡ℎ𝑒𝑚 
−2 ∫ 𝑢 𝑑𝑢

0

−3

 ∫ 𝑢 𝑑𝑢

−3

0

 −2 ∫ 𝑢 𝑑𝑢

−3

0

 

             

𝑏/ 𝑇ℎ𝑒 𝑓𝑖𝑛𝑎𝑙  𝑟𝑒𝑠𝑢𝑙𝑡 𝑜𝑓  ∫ 4𝑥(1 − 𝑥2) 𝑑𝑥
2

−1
 is    

……………………………………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………....................... 

.D C B A 

𝑁𝑜𝑛𝑒 𝑜𝑓 𝑡ℎ𝑒𝑚 6 −9 9 

 

4)  ∫
𝑑𝑥

𝑥6

2

1

  

………………………………………………………………………................................................................................................

……………………………………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………....................... 

D C B A 

𝑁𝑜𝑛𝑒 𝑜𝑓 𝑡ℎ𝑒𝑚 31

160
 

1

6
 

13

106
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8) ∫ 2𝑥√𝑥

9

4

 𝑑𝑥 = 

……………………………………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………............................................

.......................................................................................................................................... 

D C B A 

𝑁𝑜𝑛𝑒 𝑜𝑓 𝑡ℎ𝑒𝑚 168 844 169 

 

9) 𝑎/ ∫(5𝑥 + 2)2

1

0

 𝑑𝑥 𝑎𝑓𝑡𝑒𝑟  𝑤𝑒 𝑠𝑢𝑏𝑠𝑡𝑖𝑡𝑢𝑡𝑒 𝑤𝑒 𝑔𝑒𝑡 

……………………………………………………………………………………………………………………………………………………….... 

……………………………………………………………………………...........................................................................................

.................................................................................................................................................... 

D C B A 

𝑁𝑜𝑛𝑒 𝑜𝑓 𝑡ℎ𝑒𝑚 

∫ 𝑢 𝑑𝑢

2

7

 
1

5
∫ 𝑢2𝑑𝑢

7

2

 ∫ 𝑢2𝑑𝑢

7

2

 

 

𝑏/  𝑇ℎ𝑒 𝑓𝑖𝑛𝑎𝑙  𝑟𝑒𝑠𝑢𝑙𝑡 𝑜𝑓  ∫(5𝑥 + 2)2 𝑑𝑥

2

−1

  

………………………………………………………………………................................................................................................

………………………………………………………………………................................................................................................

………………………………………………………………………................................................................................................ 

D C B A 

𝑁𝑜𝑛𝑒 𝑜𝑓 𝑡ℎ𝑒𝑚 23 67

3
 

7

3
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𝟐/ 𝑷𝒂𝒈𝒆 𝟏𝟐𝟐 

𝑏) 𝑇ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑥∗ 𝑡ℎ𝑎𝑡 𝑠𝑎𝑡𝑖𝑠𝑓𝑦 𝑇ℎ𝑒 𝑚𝑒𝑎𝑛 𝑣𝑎𝑙𝑢𝑒 𝑡ℎ𝑒𝑜𝑟𝑒𝑚 𝑓𝑜𝑟   𝑓(𝑥) =
1

𝑥2
  𝑜𝑛  [1,3]  𝑖𝑠 

………………………………………………………………………................................................................................................

………………………………………………………………………................................................................................................

………………………………………………………………………................................................................................................ 

D C B A 

𝑁𝑜𝑛𝑒 𝑜𝑓 𝑡ℎ𝑒𝑚 3 −1.73 1.73 

 

𝟑/ 𝑷𝒂𝒈𝒆 𝟏𝟐𝟐 

𝑑)  1/𝑇𝑜 𝑒𝑣𝑎𝑙𝑢𝑎𝑡𝑒 ∫ 𝑥√1 − 𝑥  𝑑𝑥

0

−3

   𝑎𝑓𝑡𝑒𝑟  𝑤𝑒 𝑠𝑢𝑏𝑠𝑡𝑖𝑡𝑢𝑡𝑒 𝑤𝑒 𝑔𝑒𝑡   

………………………………………………………………………................................................................................................

………………………………………………………………………................................................................................................

………………………………………………………………………................................................................................................ 

D C B A 

𝑁𝑜𝑛𝑒 𝑜𝑓 𝑡ℎ𝑒𝑚 

∫(𝑢
5
2

4

1

− 𝑢
3
2)𝑑𝑢 ∫(𝑢

3
2

1

4

− 𝑢
1
2)𝑑𝑢 ∫(𝑢

3
2

3

1

− 𝑢
1
2)𝑑𝑢 

 

2/ 𝑇ℎ𝑒 𝑓𝑖𝑛𝑎𝑙  𝑟𝑒𝑠𝑢𝑙𝑡 𝑜𝑓  ∫ 𝑥√1 − 𝑥  𝑑𝑥

0

−3

 𝑖𝑠  

 

………………………………………………………………………................................................................................................

………………………………………………………………………................................................................................................

………………………………………………………………………................................................................................................ 

D C B A 

𝑛𝑜𝑛𝑒 𝑜𝑓 𝑡ℎ𝑒𝑚 67

3
 

120

15
 

−116

15
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𝑓) 1/ ∫
𝑥

𝑥2 + 2
𝑑𝑥 =  … … … … … … … … … + 𝑐 

………………………………………………………………………................................................................................................

 ……………………………………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………....................... 

D C B A 

𝑛𝑜𝑛𝑒 𝑜𝑓 𝑡ℎ𝑒𝑚 1

2
ln|𝑥2 + 2| 

ln|𝑥2 + 2| 1

2
ln|𝑥| 

2/ 𝑇ℎ𝑒 𝑓𝑖𝑛𝑎𝑙  𝑟𝑒𝑠𝑢𝑙𝑡 𝑜𝑓   ∫
𝑥

𝑥2 + 2
𝑑𝑥 =

2

0

 

 

………………………………………………………………………................................................................................................

……………………………………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………....................... 

D C B A 

𝑛𝑜𝑛𝑒 𝑜𝑓 𝑡ℎ𝑒𝑚 0 ln 3 ln √3 

𝟒/ 𝑷𝒂𝒈𝒆 𝟏𝟐𝟐 

𝑏) 
𝑑

𝑑𝑥
[∫

𝑑𝑡

1 + √𝑡

𝑥

1

]  

D C B A 

𝑛𝑜𝑛𝑒 𝑜𝑓 𝑡ℎ𝑒𝑚 1 + √𝑥 1

1 + √𝑥
 

𝑡

1 + √𝑡
 

𝑑) 
𝑑

𝑑𝑥
[∫ 𝑙𝑛𝑦 𝑑𝑦

𝑥

0

] 

D C B A 

𝑛𝑜𝑛𝑒 𝑜𝑓 𝑡ℎ𝑒𝑚 1

𝑦
 

𝑙𝑛𝑦 𝑙𝑛𝑥 

 


